| Efficiency vs Dxy |

efficiency vs dxy

Ratio

0.95

o
©

o
o))

J_.\@ ||||;

0.2 it

L S S S S T

=
!
2
i

14

)

010
0-15-10 -5 0 5 10 15 20 25
TP dxy (cm)

T Torgimat

it JanUpdate-systErr

V4
=
N

efficiency vs d

o
©
[

o
o))
[

—=— DQM_TKFI
—e— DOQM”mKFIt_TT JanUpdate-noErr

| Efficiency vs Dz | —— B M mlﬁE!t JanUpdate-statErr
—— DQM~mkF

T

0.4{

................................................................

It_TT _JanUpdate-bothErr

................................................................
................................................................

................................................................

20 <10 0 10 20 30
TP dz (cm)




	Contents
	Page 1


